Electrical Science: 2021-22
Tutoriall
Power Sources

By Dr. Sanjay Vidhyadharan
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Problem 1

Which of the circuits in following figure will give you Vab =7V?
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Problem 1

Which of the circuits in following figure will give you Vab =7V?
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Answer: (d)
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Problem 2

Use source transformation to find v o in the circuit of below figure.
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Problem 2

Use source transformation to find v, in the circuit of below figure.
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v, =8i=8(04)=32V
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Problem 3

Find Vg,
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Problem 3

Find Ve R, 1kQ R, 1000
+ +
Vs R, 2 vp, Avy, R, 2 Uy
0.1V 5kQY _ 100 Q) -
A =100
R, 5k0

_ Ve = 0.1V) = 0.0833 V
R = Vs = tkaTska 01V 33

Ri o0 ) = 1000
K2 77000 + 1000

(100) UR2? = SOURQ

vre = (50)(0.0833 V) =4.17 V.
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Problem 4

Find Ve
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Problem 4

Find Vg Given 3 = 100.
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Problem 4

Find Vg Given 3 = 100.

R, B__., c - RI2KQ
100kQ o Tge
+ .
% Ve 2 <¢> le=Pip %
B _07V s
3V 10V
%E

Around the left-hand loop: '+ ‘v —Vpr 3V _07V
. ‘ _ = 0.023 mA
Vsp—18Rp— Ve = 0. Ry 100 kQ

On the right: Ic = fip=(100)(0.023 mA) =2.3 mA.
Then: vrec = Rclc= (2 kQ)2.3 mA)=4.6 V. So easy!
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Problem 5

Find the voltage v in the following circuit which contains a CCVS
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Problem 5

Find the voltage v in the following circuit which contains a CCVS
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Problem 6

Find V, using source Transformation

— Vv, 100Q
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Problem 6

Find V, using source Transformation

Converting 250V voltage source into current source.

8A
§250 \7 1000 §20Q

10A

Combining both current sources
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2A §250 v.< 1000 §zon - Vo§
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Problem 7

Source Transformation Example with Dependent Source

4Q v
‘+ VCVS
+
72V _ V, 60 12Q
Yy_
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Problem 7

Source Transformation Example with Dependent Source

-

72V Jv
= =18A 2 =) *
40 10V, 60 120 <{>1ZQ 25 S*,

VCCSs

i
/4l6|12=202

V; = 2(18 — 0.25v,)

Vo = 36/1.5 = 24V
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Thankyou
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